Divisibility conditions for Gassner calculus
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Gassner calculus. Preserves Cy = [col sum = 1] (0C)and Cy =([Ya £ b, (T, = ab
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The map (tangle T +— matrix A) is anti-multiplicative. The MVA mod units: L — (w, A) — wdet’ (A — N1 -T") .
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Using (T, T, - 1)|(e-ca) get ca=a - g (T, T, - 1) and then:

-ca+aTa+ (-a+0a) Ty

-1+ Ta

(A1) In1]:= Simplify[ —oa /. {TasTyT,, casa-q (T, T, -1) }]
[amoutlil= g (-1 +Ty) Ty

-a+0aTa+ (a-o0a) T,

-1+Ta

&) 2= Simpli fy[ —oa /. {TasTyT,, casa-q (T, T, -1) }]

(A out2l= g (-1 +T,}
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